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Instructions:

ELAA:
ELMA:

> Question number 1 to 20 are of short answer type.
F1E20EYRETE,
F1E20EYREEE,
> Each question carries 10 marks.
BRELE105,
BB 5107,

If (x +2) and (x — 1) are factors of (x® + 10x*> + mx + n) , find the values of
m and n respectively.
EHX+2Fx-NRBX+10x2+ mx + nWER , F2 5K EHmFIn,

Ex+2)Mx- N2+ 102 +mx + nWER |, E2 5 HEmMAN,


mac


2.

A bag contains 4 white, 5 red and 6 blue balls. 3 balls are drawn randomly

from the bag. Find the probability that all of them are red.

—ERB4EBEE , SELENEERNIK, BERRKRFHE#EMEIEDK , 5
A R ER AL AV B,

— I REANEE , SNMIEBNNERNIK, WENRFHEVMEII B,

s
ot

KRR RIBHNEE,

In a school, 90 boys and 30 girls sat an examination. The mean mark of the
boys was found to be 45 whereas the mean mark of girls was 70. What is the

average score of the school?

E—HER , 0BBBLENMIBLBESBRT —RER. EBENTFHATR

, MArE L £/ ¥ 5 270 ERIRERN T RED ?

E—HZER , 0BBFEMIBZEESET —RERX. MESENTHETE

 MAEZ AN TS R705. BNRERNTES RSS2



Find the area of 2ABC.
EHRH2ABCHEE,
B H2ABCHE,

C 0.3)

0 30

The perimeter of an isosceles triangle is 32 cm. The ratio of one of the equal

sides to its base is 3:2. Find the area of the triangle.

—SE-AFXNEARRNZEX, Eh-—HFNENKENLEHRI2, FRE=
y=Bi:liik

—SE-AFXNEARRNZEX, Eh-—HFHNLNRLHLEHRS2, BEKRE=

ATEHER.



6.

It is given that AB//CD. The points B and C are joined such that LZABC=60°. A
line CE is drawn to make an angle of 40° with the line CB. Also, EF// AB. Find

<CEF.

E4IAB//CD, BMCHIEESABC=60°, EHCEFBEHEHCBMEKNRAR

400, F 5, EF// AB, #E3kH «CEF,

2 HMAB//CD, BFICHIEMES,ABC=600 ., HIHCEFEFESCBERNRXA

=400, B\, EF// AB, E¥k i 2CEF,




7.

Let O be the centre of the circle. If the angle at center is 1200,
find the ratio between chord and radius.

ROABEMELDL. FELHR1200, FFHRHABAO,

RONEMED. FEOHR1200 , HHRHEABAO,

The adjacent sides of a parallelogram are in the ratio 5:4.Its area is 1000 sq.
units. The altitude on the greater side is 20 units. What is the altitude on the
smaller side?

—FTHEER AR LA RS54, EEER1000FHEN, EERBRNENS
B20E, FREERBRENENGERZR?

—PATA R BL b hIR5:4, EERR1000FF £V, EETRKNLNS

R208, FREZEETRENULNERSZK?



9.

Which of the following angles cannot be constructed by using only ruler and

compass?
RERILA T b — 554 7R AT LAE R MBS A 4E 2
BRI TH—R AR ANXAER BRI HE ?
(a) 45°
(b) 60°
(c) 700
(d) 90°

10.

The dimensions of the base of a rectangular vessel are 60 cm x 45 cm. Its
height is 20 cm. The vessel is half-filled with water. What should be the
dimensions of a solid iron cube that will raise the water level up to the brim

when dropped into the vessel?

—RABRARHNRIBHIR T R60EXK45E K, HER20EK, BREHE¥E
k. BEBE-AEMNEFBERERSER , MELAZZRENESM

it

Tl HRYERAE?



—RKAERERVRIAIR T R60EKx45EK, EER20EXK, B|BEFE

it

K. EHEE—ARBNESFHEBRERSN , KU EAZZBRRNRZSM

Tl , ERYMRFAL?

11.

Find the area of the triangle formed by the points A(1,2), B(4,6), and C(5,2).
KHEHIE=BA1,2), B4,6), and O5,2)FiFERHN=AFNEE,
FHBEIX=RA(1,2), B(4,6), and C(5,2)FTE N = BN ER.

12.
Find the GCD of 84 and 126.
FAH 841269 B A N R o

EHR HB4F 126 FE AR H

13.

Convert the repeating decimal 0.333... to a fraction.
SE L MEIR/NB00.333. . B{L A — 5 B,
BHETTIR/N$70.333. . LB — T Fo



14,

If P(x)=x3+ax2+bx+c=0 has roots 1, -2, and 3, find the values of a, b, and c.
BREP(x)=x3+ax2+bx+c=0M1R=2 1, -2 M 3, FHxiHa, b M c.

REP(x)=x3+ax2+bx+c=00Y4R & 1, -2 # 3, iFKHa, b F c,

In ~AABC, medians AD, BE, and CF intersect at point G. If AG=6 cm, find the
length of AD.

#E2ABC , H#RAD, BE M CF XN G. HAGRE6HEXK , FFHKHHAD,

#EAABC , F£AD, BE M1 CF X TG, HAGRE6/EXK , FHKHAD,

16.
A frustum has a top radius of 3 cm, a bottom radius of 6 cm, and a height of

8 cm. Find the volume of the frustum.

—FPRERNESNFERIEX , RENFERCEX , S8EXK, FHHE
FEERNER.

—FEAFITRER FERIEXK , KB FERCEXK , B8EX, BHHRIEXF

KRV,



17.

Let O be the centre of a circle. Z/ABC is an angle at circumference subtended
from arc AC. If zZABC=35¢°, find £AOC.

BRIROR—EERE L. LABCRUIMACFIUINERERA. &ABC=35 °,FkH
<AOC,

BRIROZR—MEMED. ABCEMIMACFTINEEA, &-ABC=350,iF#k M

AAOCO

18.

A standard deck of 52 poker cards is shuffled, and one card is drawn at
random. What is the probability that the card drawn is either a king or a heart?
—BIRENS2REMIEIB AR |, Bl —5k. FRAERF2EETALLD
HYBLR B AT RE 2
—EIPRERS2SKIN R AT KR | BN E — K. FRXKFREERIO

HBERAT 4 2



19.

Find the value of k for which the two straight lines 3x—-4y=7 and kx—-8y=5 are
parallel to each other.

HHKEBSMELR 3x—4y=7Hkx-8y=5 B F1T,

HHKEBHEL 3x-4y=7HMkx-8y=5 EHF1T,

20.

A class of students took a test, and their scores were recorded as follows:
—HEASET RS MibMVRERSENT
—MRESET-RNE , MAERSIERET

Score Range Frequency
pag b B
0-10 3

11-20 5

21-30 8

31-40 4

41 -50 2



What is the probability that a randomly selected student scored between

21 and 407?

AR — B HHRE21FA02 MNBR R ?
AL — SR | BB F402 MR R4 2

END OF PAPER



